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B.Com. (Third Year) Examination, 2017
ACCOUNTANCY AND STATISTICS
Paper -1
(Management Accounting)

Time : Three Hours ‘
Maximum Marks : 100

PART-A ' [Marks : 20]
(Tus-31)
Answer all questions (50 words each).
All questions carry equal marks.

Tt gy aIfrerd ¥ TEF W # OSW 50 T 9
asfusw 7 2 aft T ® o T T
PART-B [Marks : 50]
(@Te-9) |

Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.

TF THE 9 UH-Uh WA T qC, FA q" WA R
TAF T F IW 250 TR ¥ FAUF T A
Tft yH # ofF A ¥ '
PART-C [Marks : 30]
(@e-1)
Answer any two questions (300 words each).
All questions carry equal marks.

B T AT THF TR F IR 300 TR I
Ay 7 B s W B 3w A #
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PART-A
(@ue-31)

Answer the following questions :

= w & sw S

@

(i)

(i)

(i)

v)

(vi)

UNIT-I

FE-T)

Write any two objectives of Management Accounting.
YT-o@i®d & fH=l I SeEl H Fanu
Write any four keys of Financial Statement.

ﬁéwug@fa?ﬁaﬁiamamsﬁl

UNIT-1I

(FFE-1D)
What is Common Size Income Statement.
TIAER oE faem w=mo #2
If current ratio is 2 : 1 how payment of creditors
will effect it ?

ARRI F PN H AR SHYM W F TS
@M WERE O S # WA 2:1 &2
UNIT-1II
(FRTE-11D)
What do you mean by Hedging principle ?
i fogr ¥ awE FoewE R
Explain Flow of Funds.

FY ® YEE H GHEEd|
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UNIT-1V

FEE-1V)

(vii) Give any two limitations of Budgetary Control
System.

Toed frsm gomelt ®1 oHE S WEn Afsw
(viii) Give the need of MIS.
T I YOTEl St SAEvIsad §arst)

UNIT-V
(FFTE-V)
(ix) Give the formula of Value added to Capital
employed ratio.
e S ¥ fafmEitm 3t oo =t T w=

A Ta|
(x)  Give three limitations of Balance scorecard.

IHT WRERE F A e S

PART-B
(T Us-7)
UNIT-1

(FTE-1)

2. Discuss the role of a Management accountant in
Management.

o W ogE sEde #OgEe Fowmen F:ifw)
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OR ( 31erm@an)
3. Discuss the various attributes of an ideal financial statement.

T Y f e % T w1 sren #ife)

UNIT-II

(FFE-1D)
4. From the following particulars relating to Mann Ltd., prepare
Comparative Income Statement.

ﬁnﬁaﬁ@mﬁfommmmm
BT

2011 ®) 2012 )
Sales Revenue ' F 58,000 65,200
Cost of Goods Sold | 47,600 49,200
Administrative Expenses 1,016 1,000
Selling Expenses 1,840 1,920
Non-Operating Expenses 140 155
Non-Operating Expeﬁses 96. 644
Sales Returns 2,000 1,200 -
Tax 50% _50%

OR (31ET)

5. Following information are in respect of RHG Ltd. for the
year ending as on 31/3/2016 :

frfafaa ged 31/3/2016 & TH@ R 9@ 96 &
@ RHG fa. ¥ w=fem &
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k¢

()  Earning After Tax (EAT) ¥ 2,70,000

(i) Market price per share (Equity) T 40

(i) Equity share capital, 80,000 shares of ¥ 10 each
Gv) Preference dividend T 27,000

(v)  Equity dividend paid 20%

Calculate following ratios :

(@) Earning Per Share (EPS).

(b)  Price Earning Ratio.

(c) Payout Ratio.

@ Divident Yield Ratio.

UNIT-1II

(3aTE-TIT)

6. Give various sources of Working Capital Finance.

wEWe T % faf=m W@ w S
OR(31ra)

7. X Ltd. had balance of ¥ 2,00,000 and ¥ 7,00,000 in its

Profit and Loss account as on 31 March, 2009 and 2010
respectively. During the year 2009-10 the profit earned
was ¥ 5,00,000 after adjusting the following : .
31 =4, 2009 3R 2010 F X Ao & @w-wl @M
I wAEW: T2,00000 3R T 7,00000 B = 2009-10 H
e EREISHl % 91" 500,000 Fe 3 o A fmd ™
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Preliminary expenses written off 25,000
Goodwill written off 40,000
Depreciation on assets 2,50,000
Discount on debentures written off 40,000
Provision for taxation 3,00,000
Prapoead dividends 1,50,000
Loss on sale of investments 5,000
Profit on sales of fixed assets ' 15,000
Dividend received 15,000
Transfer to G/R 2,50,000

Calculate the fund from operation.

TEEH ¥ HY H OAT RIS
UNIT-1V

(FHTE-IV)
8.  Prepare Material Requirement Budget of Sharma Ltd. from
the following informations :

m;ﬁm@ﬁmﬁfﬁommﬁwmw
Hife

Consumpnon for a Batch of 100 Units

Finished Goods M S Rate per kg
Materials : kg kg 4
P 50 20 20
Q 10 10 30
R 20 — - 50
S — 15 10
T 5 15 40
85 60 —
Estimated production :
of finished goods | 200 units| 300 units
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10.

11.

OR (31eram)
Distinguish between Control report and Information
report.

frem 9fees @ gem wfeed ¥ R aaemsdl

UNIT-V

FFE-V)

Estimale the sales of Tractors for the year 2011-2012 when
Farm Income Index is expected to be 240 ;

T 2011-2012 ® few Yl ® fawm w1 oTwem

FT SEfF FH S gEEE 240 I ®

Year Farm Income Sales of
I"ndé_x Tractors
20062007 100 110
2007-2008 110 130
20082000 | . 140 | 150
2009—20 10 150 160
2010-2011 _ 200 180
OR (379aT)

Discuss in detail the four perspectives of Balance Scorecard.

Y wREE F U e W e 8 fateR
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PART-C
(@uz-w)
UNIT-1
FFE-D
12. “It is said that financial statements reflect a combination
of recorded facts accounting conventions and personal
judgement.” Explain it.

‘g wE W & T T faero faftag aen o
W T ST e ® e ® WAm s 8
mmaﬁmrsﬂl

UNIT-II
(SF-1D)

13. Following Financial Structure is extracted from the
annual report of Narayan Pvt. Ltd. for the year
ending 31/3/2016 :
frafafaa fasia @ 0 31/3/2016 Fi AEW Wo ffe &

o ufeem @ fao ™ #:

4

1000 Equity Shares of ¥ 200 each 2,00,000
12% Preference Share Capital 1,60,000
(Redeemable after 13 years) '

Reserves 80,000
16% Long Term Loan 4,00,000
Profit and Loss A/c 40,000
Current Liabilities 1,20,000
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You are required to calculate the following ratios :
MY fr TRl @ TUAT R W FE L

(i)  Reserves and Surplus to Equity capital ratio.
(i) Current Liabilities to Proprietor fund ratio.
(i) Debt Equity Ratio.

(iv)  Value per Share.

(v)  Capital Gearing Ratio.

UNIT-III

(FFTE-110) |
14. Given below are the Balance Sheet of PQ Litd. for the year
ended 31st Match ; |
31 A W W BF At 99 % faw PQ fRe # faeg
= R ¥
Liabilities 2010 2011 | Assets 2010 2011

Share Capital 2,25,000]3,00,000| Fixed Assets |1,57,500 |2,40,000
General Reserve - 1,35,000] 1,47,000| Investments 1,20,000 ] 1,95,000
P&L Appropriation| 40,200| 60,750| Sundry Debtors|1,05,000| 93,000

Loan —| 90,000{ Stock 67,500| 79,500
Creditors ] 57,300| 63,750| Cash 52,500(1,27,500
Provision for Tax 45,000] 73,500

5,02,50017,35,000 5,02,5007,35,000

Additional information :

@i  Fixed assets costing ¥ 75,000 (Accumulated
depreciation ¥ 30,000) was sold for ¥ 54,000.

(i) Depreciation charged during the year ¥ 31,500.

(iii) Dividend paid during the year I 22,500.

(iv) Provision for Tax made ¥ 57,000.

(v) Investment costing ¥ 37,500 was sold for T 42,000.
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Prepare Cash Flow Statement as per AS-3 using Indirect
Method.

FE AAE §-3 % OER ooy fafy w1 owm wa
T g yAE faawm SR #iRE|

UNIT-1V

(FFTE-1IV)
15. Following figures are related to AB Ltd. at a production of
5000 uvnits (50% capacity) :
frafafge @HF 5000 THFRA (50% &HAT) FOIARA
W AB fdo & Tafem ®:

Direct Material - 10,000 ¢
Direct Wages < 30,000
Direct I'’xpenses T 5,000
Factory Overhead :
Fixed ! _ T 20,000
Variable T 25.000
Administrative Overhead (all fixed) ‘ . % 20,000
Selling and Distribution Overhead : »
Fixed ' . T 15,000
Variable : T 10,000

Prepare Flexible budget at 60%. 70% and 80% level of
activity {By Tabular Method).

60%, 70% M 80% fEamferm TR W wAEEIR SoE
T Fifsm (Fof fafa @) '
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UNIT-V

- FFE-V)
16. Explain the concept of Gross and Net Value addition.
How these are shown in Value added statements ? Also

give suitable example.
"Wa‘@ﬁm@mmaﬁmﬁl
T W foam # 3= firg TR wiW fea W ¥ 2
SugH SAEw it S
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